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1. BEIRBSEMX (59 1.19 ha)
BHHEY A K> THIX O LI &2 B9 5 #iX

HmoOX 4 BEIE3 2 mAE | 22 W% O i & X 1 2 5
B OBEMTHIIX 2 5 #0.10 half) —  ha|lfiXoOBEIL 1
Z AT HIX 1 ) 0.05 half) —  ha|lMROEIL 4
ZFHETHIX 2 ) 0.11 hal#® — ha|HXOBEIE 4
HHE TETHIX 6 0 1 0.12 hal|# 0.05 ha 5
JTHTHEX 3 ¥ 0.52 hal|f) —  ha|HiXOBEIL 6
AtENT X 1 #) 0.08 hal# 0.06 ha 8
AfEETHIX 4 # 0.07 ha|# 0.31 ha 8
AtEITHIX 8 #) 0.05 hal# 0.12 ha 8
INHhEER DFEE (0. 05ha) (244
N BT HIX 5 £ 0.09 half) —  ha|dHXOFEIE (HEEHFRRICEK 9
AFEL (80, 04ha) & de)
&8t (9HX) # 1.19 ha

2. JBNBEHEHIX (K 0.42 ha)
AT FHEI EMEE OHIWH K- CTEMNT 5 #X

X 4 BN 5 miE | ZF%OmME fig & X i 2
T ARETHE X 8 © 0,06 hal|f 0.35 ha|DPHEEY. EAUITHIDCO () 2

0.07ha) DX 4 Fi % FE 1k

A RHTHIIX 2 3 #0.12 hal# 0.12 ha 3

BRI, FTIxETHIX 7 (K

& ET X 5 #10.14 Mf5108}wamm)®%g%%%%i 7
AtEETHIX 9 ¥ 0.10 hal#9 0.10 ha 3

A R (AHxX) % 0.42 ha

[ B : 1Tha(ngBa—)L) = 100a(7—JL) ]
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3. FHTWS & B Al BB S 3 O S Hi 12 L > TAE T DX

AL AL
fisi X 1t 2 5
HoX 4 faps X A Tl
JIHTHX 2 ) 0.23 ha 6
HATHEX 2 % 0.43  ha
JOHTHEX 1 9 #J 0.08 ha 6

(BT Tha(nNgA—)L) = 100a(7—)L) ]




